
Modular pressure sequence valve/ZDZ6DP-1XJ04/04

Component size Size unit: mm

13
 M

ax
im

um

80 Maximum

13 Maximum

Ex
te

rn
al

 h
ex

ag
on

ad
ju

st
in

g 
sc

re
w

S=
4

Valve fixing screw:
M5 -10.9 grade GB/T70.1, internal hexagon adjusting screw or LT30.02,
stud with LT30.01 nut
Tightening torque ＭA=7.8 Nm
 The length is determined by the stacking height and it must be ordered separately.

20
40

3.
5

32
.5

31
.7

5
26

.5
5

16
.2

5
5.

95

46 47
.8

0.
75

32
.5

31
.7

5
26

.5
5

16
.2

5
5.

95
0.

75

10.3
7.5

27.8
19

P
B A

T

P

BA
T

40.5

0.01/100
0.8

10.3
7.5

27.8
19

4xM5;10
Valve fixing screw hole Location pin hole

45.6

39

O ring 9.25x1.78 Pressure gauge connection
G1/8

Maximum

01  08Pilot operated pressure sequence valve/DZ...5XJ

◆ Size 10, 25, 32
◆ Maximum working pressure 315 bar
◆ Maximum flow rate 600 L/min

02-03

04

03

05-06

04

07-08

Contents
● Use as pressure valve, sequence valve 
and bypass valve
● For subplate mounting
● 4 adjusting elements
     Rotary knob
     Adjusting screw with protective cap
     Lockable rotary knob with scale
     Rotary knob with scale
● 4 pressure ranges
● Check valve, optional

Features

Pilot Operated Pressure Sequence Valve
Model: DZ...5X

Required surface finishing of 
mating components

Function description, sectional drawing

Models and specifications  

Technical parameters  

Functional symbols

Characteristic curve 

Component size  

02

0496 0497

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru

www.hydrootvet.ru

alexanderakulich


alexanderakulich




Pilot operated pressure sequence valve/DZ...5XJ

Version “...”, “X” and “Y”

Version “XY”

Without check valve
With check valve

Pilot operated pressure sequence valve/DZ...5XJ

Function description, sectional drawing

Models and specifications

Function description, sectional drawing

3

=5X

The DZ pressure valve is pilot operated sequence valve, it is used for pressure dependent sequence 
switching of the secondary circuit. The valve is mainly composed of main valve (1) with main spool insert 
(7), pilot control valve (2) with pressure adjusting element, and an optional check valve(3). 
The valve function varies according to pilot oil supply and drain configuration:
Preload valve model DZ...-5XJ/...(Control lines 4.1, 12 and 13 open; control lines 4.2, 14 and 15 closed)
The pressure in port A acts on the pilot spool (5) of the pilot valve(2) via the control line(4.1), and acts on 
the spring-loaded side of the main spool(7) via throttle (6) at the same time. When pressure exceeds the 
setting value of the spring (8), the pilot valve spool (5) is moved against spring (8). The control signal is 
obtained internally from port A via control line (4.1). 
The fluid in spring chamber of main spool(7) via throttle (9), control shoulder (10), control lines (11) and 
(12) flow into port B. Thus, the pressure differential is formed at the main spool(7), the port A and port B is 
connected, and the setting value of the spring (8) remains unchanged. The leakage oil of the pilot valve 
spool (5) flows into port B internally via control line(13). An optional check valve (3) can be installed to 
allow the fluid flow freely from port B to port A.
Preload valve model DZ...-5XJ/..X...(Control lines 4.2, 12 and 13 open; control lines 4.1, 14 and 15 closed) 
In principle, the function of this valve is same as model DZ... -5XJ/... but the signal is provided externally via 
control line (4.2) for model DZ....5XJ..X... 

Preload valve model DZ...-5XJ/..Y...(Control lines 4.1, 12, and 14 or 15 open; control lines 4.2 and 13 closed)
In principle, the function of this valve is same as model DZ... -5XJ/... 
But for model DZ...5XJ...Y, the leakage at the pilot valve (5) must be drained to tank without pressure via 
control line (14) or (15), the pilot oil flows into port B via control line (12).
Preload valve model DZ...-5XJ/..XY...(Control lines 4.2, 14 or 15 open; control lines 4.1, 12 and 13 closed) 

The pressure in port X acts on control piston (5) of 
pilot valve (2) via control line (4.2). At same time, the 
pressure in port A acts on spring chamber of main 
spool(7) via throttle (6). When the pressure in port X 
exceeds the setting value of the spring (8), the control 
piston (5) is moved against the spring (8), the fluid 
flows from spring chamber of main spool (7) to spring 
chamber (17) of pilot valve (2) via orifice (9) and hole 
(16). The pressure in spring chamber of main spool 
(7) decreases. Thus, the fluid can flow from port A to 
port B with minimum pressure lose. The control oil in 
spring chamber (17) should be drained to tank 
without pressure via control line (14) or (15). An 
optional check valve (3) can be installed to allow the 
fluid  flow freely from port B to port A. 

more information in text=No codepilot valve 
pilot valve 
without main spool insert
(no mark for size)
pilot valve 
with main spool insert
(mark for size 30)

=C

=C

=10
=20
=30

size 10
size 20
size 30

=1
=2
=3
=7

rotary knob
adjusting element

adjusting screw with protective cap
lockable rotary knob with scale
rotary knob with scale

No code=
V=

No code=
M=

NBR seals
FKM seals

with check valve
without check valve

No code=
pilot oil supply

pilot oil supply and drain internal
X= pilot oil supply external and drain internal
Y= pilot oil supply internal and drain external
XY= pilot oil supply and drain external

50= setting pressure up to 50 bar
100= setting pressure up to 100 bar
200= setting pressure up to 200 bar
315= setting pressure up to 315 bar

sealing material

(consult for other seals)

50 to 59 series
(50 to 59 series installation and connection
size unchanged)

0202

0498 0499

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru

www.hydrootvet.ru

alexanderakulich




Pilot operated pressure sequence valve/DZ...5XJ Pilot operated pressure sequence valve/DZ...5XJ

Functional symbols

Technical parameters

Characteristic curve

4

Model DZ...-5XJ/...M...

Model DZ...-5XJ/... Model DZ...-5XJ/...X Model DZ...-5XJ/...Y

Model DZ...-5XJ/...XM... Model DZ...-5XJ/...YM...

Model DZ...-5XJ/...XY

Model DZC...-5XJ/...M...
Model DZ...-5XJ/...XYM...
Model DZC...-5XJ/...XYM...

Installation position
Environment temperature range

Optional

-30 to +80 (NBR seal）
-20 to +80 (FKM seal）
10 to 800
The maximum allowable pollution level of oil is 
ISO4406 Class 20/18/15

-30 to +50 (NBR seal）
-20 to +50 (FKM seal）

Weight Size

Size 10 Size 25 Size 32

Size 10 Size 25 Size 32

Hydraulic
Maximum working pressure
Maximum backpressure
Setting pressure flow-related (see characteristic curve)

50; 100; 200; 315
Maximum flow

port A, B, X
port T
Minimum
Maximum
Size

Medium

Hydraulic oil temperature range

Viscosity range

Cleanliness of oil3）

Mineral oil (HL, HLP)1） in accordance with 
DIN 51524; Fast living organisms degraded oil 
according to VDMA 24568; HETG (Rapeseed oil)1）; 
HEPG(Polyethyleneglycol)2） ; HEES (Synthetic Fats)2

1) For NBR seal and FKM seal.
2) Only for FKM seal.
3) The oil must meet the cleanliness degree requested by the components in the hydraulic system.
Effective oil filtration can prevent failure and increase the service life of the components.

(Measured when using HLP46, joil=40°C ± 5°C)

Inlet pressure in relation to flow (A→B)

Minimum inlet pressure in relation to flow(A→B) (= bypass pressure , version "...X...")

The curves are valid for outlet pressure PB=0 over the entire flow range.

Flow rate (L/min)→

Flow rate (L/min)→

In
le

t p
re

ss
ur

e 
(b

ar
)→

In
le

t p
re

ss
ur

e 
(b

ar
)→

0202

0500 0501

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru

www.hydrootvet.ru



Pilot operated pressure sequence valve/DZ...5XJ Pilot operated pressure sequence valve/DZ...5XJ

Characteristic curve Component size Size unit: mm

6 7

6

Size 32

Size 25

Size 25

Size 32

Size 10

(Measured when using HLP46, joil=40°C ± 5°C) Subplate mounting valve, type DZ...5XJ...

1 Name plate
2.1 Port Y for control oil drain external
2.2 Port Y  for control oil drain external 
     (G1/4 or M14x1.5 optional)
3 Port X(for supply external)
4 Adjustment form "1"

9 Space required to remove the key
10 Location pin hole
11 Valve fixing screw hole

4 pcs (DR10, DR20)
6 pcs (DR30)

12 O ring
13 Pressure relay connection

5 Adjustment form "2"
6 Adjustment form "3"
7 Adjustment form "7"
8 Hexagon S=10

Size

Size

Valve fixing screw hole

Location pin hole

Max.

Max.

Bypass pressure in relation to flow(A→B) (only for version "...XY...")

characteristic curves via check valve (B→A)

The curves are valid for outlet pressure PB=0 over the entire flow range.

Flow rate (L/min)→

Flow rate (L/min)→

Di
ffe

re
nt

ia
l p

re
ss

ur
e 

(b
ar

)→
By

pa
ss

 p
re

ss
ur

e 
(b

ar
)→

Required surface finishing of 
mating components

It must be ordered separately
if connection subplate is needed.
DZ10 Subplate model:
G460/01(G3/8”); G460/02(M18x1.5)
G461/01(G1/2”); G461/02(M22x1.5)
DZ20 Subplate model:
G412/01(G3/4”); G412/02(M27x2)
G413/01(G1”); G413/02(M33x2)
DZ30 Subplate model:
G414/01(G11/4”); G414/02(M42x2)
G415/01(G11/2”); G415/02(M48x2)
Valve fixing screw
DZ10: M10x50 DZ20: M10x60
DZ30: M10x70
10.9 grade GB/T70.1-2000
Tightening torque ＭA=60Nm

02

0502 0503

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru

www.hydrootvet.ru



Pilot operated unloading pressure relief valve/DA/DAW...3XJ

Contents Features

Pilot Operated Unloading Pressure Relief Valve
Model: DA/DAW...3XJ

◆ Size 10, 25, 32
◆ Maximum working pressure 315 bar
◆ Maximum flow rate 250 L/min

● For subplate mounting
● 3 adjusting elements
     Rotary knob
     Hexagon screw with sleeve and        
     protective cap
     Lockable rotary knob with scale
● 3 pressure ranges
● Solenoid operated unloading by a 
built-on directional valve

Function description, sectional drawing

Functional symbols

Technical parameters

Models and specifications

Characteristic curve 

Component size  

Application example

01  10

02-03

03

04

05

06

07-08
09

Pilot operated pressure sequence valve/DZ...5XJ

Component size Size unit: mm

001/10.0

3.
21.
6

48

3.2 3.2

44

4

9

44

With (DZC10 or 30) or without DZC

Required surface finishing of 
mating components

1 Name plate
2 Port Y for control oil drain external
3 Port Y for control oil drain external 
   (G1/4 or M14x1.5 optional)
4 Adjustment form "1"
5 Adjustment form "2"
6 Adjustment form "3"
7 Adjustment form "7"
8 Hexagon S=10
9 Space required to remove the key
10 Valve fixing screw hole
11 O ring 9.25x1.78
12 Main valve insert
13 The ∅32 hole can intersect ∅45 hole at any position.
Be careful not to damage oil port X and fixing holes
14 The retainer ring and O-ring should be 
installed in this hole before installing main spool.
15 O ring 28x1.8
16 O ring 28x2.65
17 O ring 27.3x2.4
18 Retainer ring 32x28.4x0.8
19 Without this hole when used as a bypass valve

Valve fixing screw
M8x40-10.9 grade GB/T70.1-2000
Tightening torque ＭA=34.3Nm

02

0504 0505

www.hydrootvet.ru

www.hydrootvet.ru www.hydrootvet.ru

www.hydrootvet.ru




